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Q.1.(A) Sachin company is considering to invest Rs.3.60,000 in a capital project. The expected annual | 18
income after depreciation but before tax is as follow
Year 1 2 3 4
Rs. 1,80,000 | 144000 1,08,000 | 72,000
Depreciation may be taken at 20% as per written down value (WDV) method. The company’s
required rate of return is 10% and pays tax at 40% rate. You are requested to evaluate the
project according to each of the following methods
1) Payback period methods
2) Rate of return on average investment method
3) Net present value method
4) Profitability index method
Present value of Rs. 1 at 10% discount rate is as follow
Year 1 2 3 4
Present Value | 0.909 | 0.826 | 0.751 | 0.683
OR
Q.1(A) (1) | What is accounting rate of return method? Also explain the benefits and limitations of | 9
accounting rate of return method
Q.1(A) (i) | Which method is superior NPV or IRR? Also discuss the difference between NPV Method 9
and IRR method in context of capital budgeting decision
Q.2.(A) Net operating earning of VIRAT company is Rs. 2,40,000 while its total investment is Rs. | 18
15,00,000. The rate of equity capitalization is 12% when its capital structure does not include
debts. But the rate of equity capitalization is 12.5% when the company issues 8% debentures
of Rs. 5,00,000 in exchange of its equity shares and it is 15% when it issues 10% debentures of
Rs.9,00,000 in exchange of its equity shares. Compute cost of capital and market value of the
company under threes three situations according to traditional approach
OR
Q.2.(A)(1) | What is indifference point? Also explain characteristics of optimum capital structure
Q.2.(A)(I) | Write a note on NI and NOI approach in context of capital structure with suitable illustration
Q.3.(A) The balance sheet of Ashmita limited as on 31-03-2019 is as under 17
Liabilities Rs. Assets Rs.
Authorized capital 15,00,000 | Land & building 79,840
10,000 equity shares of Rs. 10 each 1.00,000 | Share of subsidiary company 32,000
fully paid up
Fully paid preference share capital 1,40,000 | Plant and Machinery 1,60.000
Share premium 22,440 Investment (Long-term) 28,000
Profit & Loss Account 1,04,800 Stock 76,800
General reserve 56,000 Debtors 2,40,000
9% Debentures 11,200 Bank balance 8,000
Creditors 1,53.000 Preliminary Expenses 2,000
Long-term bank loan 4,000
Proposed dividend 13,600
Bills payable 21,600
6,26,640 6,26,640




Additional information
1) Replacement cost of land and building is Rs. 1,45,400
2) Value of shares of subsidiary company is Rs. 40,000
3) Investment is valued at Rs. 31,200
4) Net Profit before tax is Rs. 1,20,000
5) Stock of Rs. 400 becomes obsolete every year and it is to be written off.
6) Additional depreciation of Rs. 4,560 because of replacement of land and building is to be written off
7) Profit of Rs. 2,000 made on last year’s sales is included in current year’s profit
8) Loss of Rs. 200 on the sales of motor is debited in profit and loss account
9) Interest of Rs. 200 on bank loan is deducted while determining the current year’s profit
Calculate following
1) Rate of return on Total capital employed
2) Rate of return on net capital employed
3) Rate of return on owner’s capital employed
OR
Q.3.A(l) | What is the importance of DuPont chart in determining return on capital employed? Also | 9
explain the significance and use of return on capital employed
Q.3.A(I) | What is intern firm comparison? Also explain objectives of intern firm comparison and | 8
Significance of ratios in inter-firm comparisons precisely.
Q.4(A) From the following information, prepare cash budget of a company for March-2019 to May 2019. 17
Month Purchase (Rs.) Opening stock (Rs.) Over heads(Rs.)
February 2,40,000 20,000 40,000
March 2,80,000 30,000 50,000
April 3,20,000 50,000 60,000
May 3,60,000 60,000 70,000
June 4,00,000 55,000 80,000
Other information
1) Cash and Bank balance on 1-3-2019 Rs. 60,000
2) Rate of gross profit on cost 50%
3) 60% of purchase and sales are on credit terms. The rate of cash discount both for the cash
purchases and cash sales is 5%
4) A new machine is to be brought for Rs. 2,40,000 in April, 2019, the payment of which is to
be made 50% against delivery and the remaining amount in the subsequent month
5) Another machine costing Rs. 1,00,000 is to be purchased by installments in April,2019, 20%
amount is to be paid at the time of agreement and the rest amount is to be paid by four equal
monthly installments with 12% interest per annum
6) Time lag: Credit Sales 1 Month
Credit purchases ¥2 month
Overheads '/; month
7) Monthly depreciation on fixed assets Rs. 10,000 is included in the overheads
OR
Q.4(A) (1) | What are the methods of cash budget preparation? Also describe importance of cash budget very | 9
precisely
Q.4(A) (i) | What is uniform costing? Also critically evaluate the usefulness of uniform costing. 8
o€l

e Y=oysjoll 2AHA .30 SGEISc 289\,
o y=sopyoiHi ¥ Uil 81 uRl Nel URellell Ydiel AHudiel 282,

o €35 URdioll J0I ASARMI (¥ Higetl) 289, URIUN §E ¥R HISA o 262,

PRt



